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          EX 1   
 

 
 
d1 

 
 
y =  7 x  – 1,5   
 

 
 
y = – 1, 5 x – 7 

 
 
y = 1, 5 x – 7 

 
 
y = – 1, 5 x + 7 

 
 
d2 

      
          3           3 
y =    —  x –  — 
          2           8 

       
          2           8 
y =    —  x –  — 
          3           3 

         
          3           8 
y =    —  x –  — 
          2           3 

     
          2            8 
y = – —  x +  — 
          3            3 

 
d3 

 
 
y =  –  3, 4 x  +  28, 8   
 

 
 
y =  –  3, 2 x  + 45  
 

 
 
y =  –  3, 2  x  + 10, 4   
 

 
 
y =  –  3, 4  x  + 30 
 

 
 
d4 

 
 
   y =   x   
 

 
 
y =  – 2 x  +  2   
 

 
 
    y =  –  x  +  2   
 

 
 
        y =  –  x   
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A l’aide du graphique déterminer les équations réduites des droites représentées ci-dessous :  
1°)  

 
2°) 

 


